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Direction : Answer the following questions by
selecting the correct option.

ficifrer : wfde Ter e 3@ S5 amehE
Tag we |

1. If A and B are two given sets, then
An(An B is equal to 1. W A ) B M O% =W, =@
AN(ANB)°-93 T T3
(A) ¢
(A) ¢
(B) A
(B) A
(C) AnBE€
(C) AnB°®
(D) None of the above
(D) Toicad (TR T
2. It 2. qﬁ
E={x:x%4+3x+2=0} B {x i3 58x 5 =0l
and F={x:x2=4} 32 F={x:x2=4}
be two sets, then E~F is ‘iﬁﬁ!ﬁ?{ﬂ,mE—Fm
(A) {2}
(A) {2}
(B) {-1
(B) {-1}
€ o
€ ¢
D) None of the above
©) (D) Toicaa (@i T8
3. Two finite sets A and B have m and n
elements respectively. If the total 3. Eﬁ; O A @R B-G7 R
number of subsets of A is 112 more IWEE m 8 n. I A-G8 @B TATIOA
than the total number of subsets MY B-9q (N6 TR AW (B
of B, then the value of m is 112 9% 2, T&@ m 93 I T3
A) 7 A) 7
(B) 9 (B) 9
(C) 10 (C) 10
(D) None of the above (D) Toiiza (b
SPACE FOR ROUGH WORK / 9% JI(&q &= QRN
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4. The relation

5.
fla)=

R={11),22,63),(L2),23),13)}
on the set A={1 2, 3} is

(A) reflexive but not symmetric
(B) reflexive but not transitive
(C) symmetric and transitive

(D) neither symmetric nor transitive

If the function
2 2( T n
cos“ x+cos [§+ x) —cosxcos[g-t- x)

is independent of x, then f(x) is
equal to

(A) 0

® 3

©) 1

(D) None of the above

The identity element for the binary
operation * defined by a*b= %,

where a and b are the elements of a
set of non-zero rational numbers, is

@A) 1
(B) 2
(©) 0
(D) None of the above

4. A={1, 2 3} CH3 T°@
R={11,22,63),(L2,3),13)}
a3 7T | ST

(A) T R afem T

(B) TN 38 w@fie 7

(C) afeT ¢ Fafie

(D) 2fST 1 WKFRS @R T

5. I
flx)= cos? x + cos2(g+ xJ - cosxcos(§+ x)

TR0 x RCTE T, O f(x)-9q T
A

(A) 0

(B)
€ 1

(D) Socam @R W

6. 3 faom oferm » ¥R W @
a*b=%b, @Y a 9R b 2 [0 T
G TR IR | G SoAwE =4
(A) 1
B) 2
(€ O
(D) ToiaR IR W

SPACE FOR ROUGH WORK / A% JFI(&q & &R

[ P.T.O.




7.

Which one of the following is not a
group?

(A) (N,+); N=Set of natural
numbers

B) ©Q,+; ©Q=Set of rational
numbers

(C) (R, +); R= Set of real numbers
(D) None of the above

If o and B are different complex

SIS WIBIE toten | RIS 5
1-ap
equal to
(A) O
1
B —
(B) >
©) 1

(D) None of the above

The value of '
14+4/-3)3 4+ (-1-/-3)3

is

(A) 0
[B) 2 34
(C) 2 33

(D) None of the above

7. AR @G G0 269 T2
(A) (N, +); N =TSR IR O
(B) (@, +; Q=W UM G}
(C) (R +); R=31® MIM O

(D) Togza @IS 8

8. I o 92 B qb fou wibe eam =W, @A
|[3|=1,m' B_“B‘—mmm

1-&
(A) O
1
(B) 2
€ 1
(D) Toicaa @HbE T

9. F1+V=3)3¥ +(1-V=3)F-@w@ A m

(a) 0
(B) 2%
(C) 233

(D) TEa @miv:

/20
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10. If a,b,c are distinct positive
numbers, then which one of the
following is true?

(A) (b+c-dc+a-b)la+tb-c)-abc>0
(B) (b+c-a)lc+a-b)la+b-c)—abc<0
(C) (b+c-dlc+a-b)la+tb-c)-abc=0

(D) None of the above

11. The value of

1p+2.%2P,+3.3Py+ - +n ."P,

is equal to
(A "P, -1
B) "7'P,_y+1
(€ P By =1

(D) None of the above

10. I a, b, c =H To7 F¥F )W =,
R FaEReskr s @b 5 2

(A) (b+c-d)c+a-b)la+tb-c)—abc>0

(B) (b+c—a)lc+a-b)lat+tb-c)—abc<0

(C) (b+c-dlc+a-b)la+b-c—-abc=0

(D) Tozm @bE T

11. 'P,+2.2P,+3.3Py 4+ +n."P,

g9 I+ 23

(&) "P, -1

B)' 2 Pna 1

(€) PP y~1

(D) TR @R T .

SPACE FOR ROUGH WORK / A% J&d & WS




12. If a polygon has 44 diagonals, then

13.

14.

the number of its sides is

(A) 10 B) 7

(C) 8 (D) 11

If the coefficients of x’ and x2 in the
n

expansion of [2+§) are equal,

then the value of n is

(A) 56
(B) 55
(C) 45
(D) 15

For the equation
1 1 1

x+a x+b x+c

if the product of the roots is zero,
then the sum of its roots is

(A) 0

2ab

(B) b+c

2bc

© b+c

B 2bc

(D) b+c

12. I 93 Ipeem 44 3o A0, O3

13.

14,

IRPE(HA A A T3
(A) 10 B) 7
©) 8 D) 11

n
Bl [2+§J Ii”@ﬁm x7 @R x%-a@7
SR9TaY T 2, 99 n-99 I 2T
(A) 56

(B) 55
(C) 45

(D) 15

blid
14 1

x+a x+b x+c

SR Jreaferm @ere “fﬂ\iﬂ, 6
by Mealer @ =3

(A) 0

B) —3“”
+e
2be

5 ave

_ 2bc

(D) b+c

/20
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15.

16.

7.

If sum of n terms of an arithmetic
progression is 3n? + 5n and the mth

term of the progression is 164, then
the value m is

(A) 26
(B) 27
(C) 28

(D) None of the above

The sum of the series
142248 28 45-4100.2%

is

(A) 100.2'%° 41
(B) 99.21%° 11
(C) 99.2%° -1

(D) 100.2'%° -1

The infinite series

1 1 1 1
— o R e
4P 5028, 3P n?
will be divergent, if
(A) p21
(B) p<1
€) p=1

(D) None of the above

15. M @A WA A n WIF ATR

16.

17.

@15%% 3n? +5n GR Mm-N W 164 T,
O m-99 N9 23

(A) 26

(B) 27
(C) 28
(D) TR (FMMLE T8

1+2.2+3.22+... 410022  %ifox

QA I

(A) 100.2'%° +1
(B) 99.2'% 41
(C) 99.2%° -1

(D) 100.2'%° —1

SPACE FOR ROUGH WORK / % (& &= SRS

[ P.T.O.




18. The value of the determinant of an | 18. <3 &7 MiH-93 P I =5
orthogonal matrix is
A) 1
(A) 1
(B) -1
(B) -1
(C) 1 Jq -1
(C) 1or -1
TR
(D) None of the above () S
19. If matrix A =[a;]yx2, Where 19. I TMH A =[a; ]l @A
@ =1 if i#j g = 1M izj
=0 i 1=y =0 3 i=j
then A? is equal to |, @ A2-@ TH T3
A) T
(A) A) I
A
(B) B) A
€ O
() O
(D) None of the above
(D) Toeaa @b T
20. The matrix A is defined as
-1 0 0] =1 0 .0
A=] 2 -3 0 20. A=| 2 -3 0| @b ome WA
I~ 82 1 4 2
2 _qq i3 (ei &
The eigenvalues of A? are 475 (eigen)- TEF 27
(A) _13 _9; 4 (A) .-11 -99 4
B) 1,9, 4 B) 1,9, 4
€ -1, -3, 2 € -1, -3, 2
(D) None of the above (D) ToFa @mibe T
SPACE FOR ROUGH WORK / 9% (&9 &= HES
/20




21.

22.

The value of 2sin221,° is

(A) V2++2
B) v2-+2
(C) 2+/2

(D) None of the above

If a+p =45°, then the value of
(cota —1)(cotP — 1)

is

A) 1. (B) 2
© 3 (D) 4
The general solution of the

trigonometrical equation
sinx+cosx =1
for ne Z is given by [Z is the set of
integers]
(A) x=nn
n

(B) x=m|:+5

= Ly %
© x=nm+(-1" 27

(D) None of the above

21. 2sin22%°-R TN T3

22.

23.

(A) V2++2
B) V2-+2
(C) 2+/2

(D) TR @R T

Tt o+ = 45° W, TR
(cotow — 1)(cotP — 149

I¥ 3

(A) 1 B) 2
(C) 3 D) 4
fazeanfifes SR

sinx+cosx = 1-49 .

ne Z-93 S MR TNYEL T3 (2
HYQ TRYA Gig)

(A) x=nn

(B) x=m+g

o AT .
(C) x=nn+(-1 e

(D) To=a @bE W

SPACE FOR ROUGH WORK / AR J1(&H &0 WEM

[ PTO:




24. The value of il
5 — 02 24. sm"[%+%ﬁ]_sm—l-x_mm
sin‘l[%+—-——2 - ]—sin“lx
# 23
is 3 %
A) —
n
(B) —
s 4
By =
(B) 2
n
)
(©) g © 3
(D) None of the above (D) Toraa @EivE 78

25. In a AABC, if 4B =60° then the 25. ¥t AABC-@3 /B =60° =, &

:,::pression (a+b+d)a-b+q) is equal (@+ b+ d(a— b+ d-eR T T
k. B (A) 3ab

(B) 3bc h &30

(©) 3ca (C) 3ca

(D) 3abe (D) 3abc

26. The maximum value of
26. 53in9+33in[9+g)+3-~ﬂ’§ S T

53in8+33in[9+§)+3 -
i @A) 11
(a) 11
B) 12 e
© 10 () 10
(D) 9 (D) 9

SPACE FOR ROUGH WORK / AF (e &= &R
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27.

28.

If sinA, cosA and tanA are in
geometric progression, then the
value of
cot® A-cot? A
is
(a) 1
(B) sin? A
(C) sinAcosA
(D) None of the above
The curve

4x? + axy+y* +4x+2y+20=0
has
(A) one centre
(B) no centre
(C) infinitely many centres

(D) None of the above

If x%+ klyz +2kyy = a® represents a
pair of perpendicular straight lines,
then

A) k=1, ky=a

(B) k1 =1, ky =-a

(©) ky=-1, k, =ta
(@) None of the above

27. I sinA, cosA R tanA BLIEI

28.

29.

A9fSTe AT, TR
cot® A-cot? A-a7
T =3
(A) 1
(B) sin? A

(C) sinAcosA

(D) TR @FMLE W

4x?% +4xy+y% +4x+2y+20=0
Rla
(A) 3 (F% "
(B) I % ¥
(C) 5N M (T T
(D) Toam bR ™

I xZ+ky?+2k,y=a® AR
GICENT] 7 AR NPT o
IR, R

(A) ky=1, ky=a

B) k=1, ky =—-a
(C) ky=-1, ky =ta
(D) Toiaa @R W

SPACE FOR ROUGH WORK / 1% JI(&9 S0 SR

[ P.T.O.




30. The length of the latus rectum of the

hyperbola 16x2 -9y2 =144 is

(A) 2 units
3

(B) 32 units
©)

3— units
3

(D) None of the above

30. 16x?-9y? =144 °@ARrER e

o =3
16

— 95

@

(B) 32 933

©) 32

(D) Toicaa @R W

31. If a line passes through the point | 31. 3 3 ey @, 2) g fiew T @2
(2, 2) and is perpendicular to the line 3x+y=3 FEIIN Tom T W, O
3x+y =3, then its y intercept is FEAAIA y eI 23

1

A ) =

(A) 3

2 2

B) = =

®) 3 (B) 3

€ 1 ) 1

4 4

(D) 5 (D) 3
SPACE FOR ROUGH WORK / 9F J8q & SRS
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32.

33.

The circles
x?+y?-12x-12y=0
x%2+y?+6x+6y=0

(A) touch each other externally

(B) touch each other internally

(C) intersect in two points

(D) None of the above

A line makes the same angle 6 with
each of the x-axis and z-axis. If the
angle B which it makes with y-axis,
is such that sin?p =3sin?9, then
the value of cos?8 is

(A)

U1l N

(B)

Ul =

()

wnlw

(D) None of the above

32.

33.

x?+y?-12x-12y=0
x?+y? +6x+6y=0

T ‘
(A) =R MRFeR = IR
(B) RRTT WY =M I3

() 7o RTs = 3R
(D) TR @S

G0 TRARY x-TF GR z-WCF K
T @1 0 Teow IR | IM SHEERA
Y-SR TH B 19 Teo IR, @A
sin?p =3sin?0, WA cos?6-\
TH =3

@ 2

(B)

U=

©

oW

(D) ot e T

SPACE FOR ROUGH WORK / ¥ J[(& &= &R




34.

35.

The angle between the planes
2x-y+z=6 and x+y+2z=7 is

(A)

(B)

(€)

A

(D) None of the above

The two lines
=Ny +2u 853
-3 2k 2
x-1 y-5 2z-6
d = =
R T el R

will be perpendicular to each other,
if the value of k is

10

®

10

® -

20
(C) -

(D) None of the above

34. 2x-y+z=6 R

35.

x+y+2z=7 9
b waE @1

(A)

(B)

SIE

(C)

Hla

(D) Tz @M T8

i STRETR
X—le - Y=2 . Fx3
-3 2k 2
x—1 _y-5_ 2z-6

e e e

TR T A, IM k-G T =W
10
(A) -

10
B ==

. 20
(©) 3

(D) TR FMHE T

/20
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36. The radius of the circle

37.

x2+y%+2%=25
x+2y+2z+9=0
is

(A) 2 units
(B) v2 units
(C) 4 units

(D) None of the above

The sine of the angle between the
straight line
X=2u tlim3 . Z=4
g &~ =8

and the plane 2x-2y+z=5is

V2
(B)ﬁ)‘

(D) 10

&

37.

x%2+y%+2%=25
x+2y+2z+9=0
e ICNE =
(A) 2 95
(B) V2 @
(C) 4 3%
(D) %ﬂmm“

X=2"Y=3 -4
Vi~ AR @R

2x -2y+z =5 SR TELI @R A2
(sine)-<€3 W 23

(B)

(©)

10

(D’GJE

SPACE FOR ROUGH WORK / 3% JIN&R & AT




38.

39.

Let

flx)= ;fﬁ and g(x)=x*-5

The values of x for which f(g(x)) is
discountinuous are

(A) -1, 45
(B)
(C)

(D) None of the above

Given
_x+2] x -2
=3 ’
f(x)= tan” “(x+ 2)
2 =D
then f(x) is

(A) continuous at x = -2
(B) not continuous at x = -2

continuous but not differen-
tiable at x =-2

(C)

(D) None of the above

38. I I@

39.

f{x):ﬁ GR glx)=x*-5

x93 (@ AFHA W T [f(g(x) TES
ciafa ==

(A) -1, +4/5
(B) +/5
- -3"2

(D) TR @R W

e TR
"‘];m, x# -2
Fladmg ™ =
2 4y K=
@ flx) S
(A) x = -2 Rers 5we

(B) x=-2 s swe |
(€) x =-2 Rrrs ¥e 78 wwaees

(D) Tz @FHE W

/20
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41.

42.

If Rolle’s theorem is applicable for
the function f(x)=x>~3x in the

interval [0,4/3], then the value of

c 0D<c<+3)is
A 1

(B) -1

1
© 3
(D) None of the above

The equation of the tangent to the

curve y = 2sinx+sin2x at x=-g- is
(A) 2y=3V3

(B) y=3v3

(C) 2y+3J3=0

(D) y+3J/3=0

If f(x) = cos(log x), then the value of
2 (x)f ) - {f(xy) - /G]}
is

(a) 1

(B) 0

© 5

(D) None of the above -

40, 3% @A Tomal  fx) = x3 -3x

41.

42.

| SRR W [0,4/3] WA oA =W,

¥@c (0< c<f)-mmm

(A) 1
(B) -1

1
(€) 3

(D) TR @2 A

Yy =2sinx+sin2x AT x=§ ﬁ"fﬁ
=opfiER SR I
(A) 2y=3v3

(B) y=3v3
(C) 2y+3V3=0
(D) y+3V3=0

MW f(x) = cos(log x) =W, =

2 () - {f(xy) . J(-;]}-ﬂ?l

TN =
A) 1

(B) 0
1
© 35

(D) Toezm IR T

SPACE FOR ROUGH WORK / ¥ JI&1 &= GRS

[ P.T.O.




43. The value of daiy (Sinxa— x)_@m;ﬁ
Lé (smx;x) x=0\  x
x—0 X
1
is () 3
1
A =
3
® <
B) -
1
©) -3
) 3
€ -=
3
1
D e
o -1 D) -2
44. The vaJuF of 44. [ |x(x-1)|dxc-8 T 7@
| |x(x-1)|dx .
is ! (&) 0
A (B) -1
B) -1 i
© 1 (D) oz PR T

(D) None of the above

45. T @FW HAFS T 7Y 2
45. Which of the following is not an | -

improper integral? | (A) I: & T dx
(A) [T e dx
® - =
3
© [ e © & e
(D) None of the above (D) Totaa @MvE T

SPACE FOR ROUGH WORK / 1% 393 &= ST
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47.

The area bounded by the parabola
y? = 4x and the straight line y = 2x
is

(A) % square unit

(B) % square unit

(C) % square unit
(D) None of the above

The value of
SIP@)+TE)+T(4)+TE)

is

A) 11

11
(B) =
(C)- 33
(D) None of the above
The integral

J‘;xm—lu = x)ﬂ.—ldx

is convergent, if
(A) m=n=0
(B) m>0,n>0

- (€) m>1, n>1

(D) None of the above

46.

47.

48.

y? = 4x WfRYE @R y = 2x WAL W
s SwEhd CFaea 24

1
(a) 3 ¥ =9
1
(B) < 3 @39
3
© L ol
2
(D) Toeaa FMbE

%[1‘[2)+ I'@)+I(4)+T(5)]-93 I =4
(A) 11

11
(B) 3

(C) 33

(D) oz @R T

[xm - xlax SRR SRR
=3, M
(A) m=n=0

(B) m>0,n>0

'w)m>;n>1

(D) Torcam @FFbE T

SPACE FOR ROUGH WORK / ¥ J[&d &= GHE5




49.

(A)

(B)

(&)

(D)

50.

51.

€

The value of Isecsxdx is

%[secxta.nx+log|secx+tanx]]+ c

%[secxta.nx —log|secx+tan x|]+ ¢

1
E[secxtanx—loglsecx—ta.nxlhc
None of the above

The value of

Infz Xsin xcos x
0

7 dx

sin? x+cos? x

is
2

mn
) ==

(B)

© 3

(D) None of the above

The differential equation of the
family of parabolas with vertex at
the origin and axis as x-axis is

dy _

(A) 2x e

y

(B)

dy_
xdx-y

dy

2
di

(D) None of the above

49

50. |

S1.

. jse:c3 xdx-93 ¥ 5

l{s.ecxtaau'u:+1t::og[scc9c+ tanx|]+c

a3

(B) %[secxtanx-log[secx+tanx|]+c

(C) %[secxtanx—loglsecx-tanxlhc

(D) TR @MvE T

XSin xcosx

4 x+cos* x

n/2
0

. dx-<3 T T
sin

(A)

(B)

dy

A ey

(B) x%w

dy
C) —=+=2
(ldx Xy

(D) ot o

/20

SPACE FOR ROUGH WORK / ¥ JEA & SN
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52.

53.

If f'(x)=xf(x) and f(0)=1, then f(x)

1s

&
() e?

(B) e

1,
(C) e?

(D) None of the above

The sum of the slope and the
ordinate at any point (x, y) of a curve
is equal to the abscissa at that
point. The equation of the curve is

(A) y=x+ce
B) y=x-1
() y=x-1+ce’™

(D) None of the above

Integrating factor of the differential
equation
cos x %+ ysinx =1
is
(A) cosx
(B) tanx

(C) secx

(D) sinx

52. I f'x)=xf(x) ¢R fO)=1 W, &
flx) =3

1
(A) e?

(B) e~

1,
() e2

(D) Toeaa @MHE T

53. A WHF (x, y) e 7 e e
S R grem W | 3@ SRR
@

(A) y=x+ce™
B) y=x-1
(©) y=x-1+ce™
(D) TorRR FFE T
54. cosx%-&-yainx:l e R

TN B 23

(A) cosx
(B) tanx
(C) secx

(D) sinx
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55. The general solution of the equation

56.

is

(A) y=Ae* + Be?* +Ce®*

(B) y=3e"

(C) y=A+Be*

(D) None of the above

A solution of the differential
equation
dy)2 dy
= =x—=+y=0
(dx *ax Y
is
(A) y=2
(B) y=2x
2
X
& =—
€ y a

(D) None of the above

58.

56.

d’y _d?y .. .dy
F—GQ-FIIE—GQ‘ =1)
ANFACR AR TG 24

(A) y = Ae* + Be®* + Ce3*
(B) y=3e*
(C) y=A+Be*

(D) o @ T

2
[%) -x%i—'+y=o TRFE AP

G AN 25
A) y=2

(B) y=2x

oE
4

€) y=

(D) TR (FHE W
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57. p, g, r are three vectors such that

58.

B+d+7=0, |BI=3, |dI=2, [7I=1
then the value of p-g+q-7+7-pis

(A) 0
B) 7
) -7
(D) None of the above

A particle, being actgd on Aby two
constant forces (Bi+ j—-k) and
(41 + j-3k), is displaced from the
point ((+2j+3k) to the point
(5:e +4}-}E}. The total work done by
the two forces is

(A) 48 units
(B) 32 units
(C) 40 units
(D) None of the above

If p=2i+3j-k, q=-i1+2)-4k,
7=i+j+k, then the value of
(Pxq)-(pxT)is

A) -74

(B) 64

58. @i+ j—k) @R (4i+ j-3k) & I 7

o4YE 2GTR F& G IR (1 +2)+3k)

R F (5i+4)-k) Rrs @ w64 |
= 4o 7= e (b eI =F

(A) 48 933
(B) 32 @39
(C) 40 @33
(D) Tocaa @WivE W

59. i p=2i+3j-k, g=-1+2j-4k,
?=i+jrk W, 3@ Bx3) @x7) @
T 2 :

A) -74
(B) 64
(C) 76

(D) 60

SPACE FOR ROUGH WORK / A%¥ J&R & SRSl




60. If the vectors (2i — j+k), (i +2j—3k)

and (3f+d:f+ 51%) are coplanar, then
the value of the constant d is

60. (2i - j+k),

@ +2]-3k) LR
(Bi+dj+5k) (537 foaft el =@
#3F d-93 T T3

(A) 6 (A) 6
(B) -6 (B) -6
(C) -4 (C) -4
(D) None of the above (D) SRR (FOE W
61. If 61. TM
m=i+2j-3k and 7 =3i - j+2k m=i+2j-3k @ 1 =31 - j+2k
then the angle between (m+7n) and W, OR@ (m+n) R (m-n)GR TS
(m-n)is @ =&
(A) 90° (A) 90°
(B) 45° (B) 45°
(€) 30° (C) 30°
(D) None of the above (D) oA @FWIE T
62. If 62. IM
}',=(x+y+1}f+}+(—x—y)ﬁ _?=(x+y+1ﬁ+}+{—x—y}£.
then the value of ?curl_? is [, O3 ?-curi?—uﬂ?l T 23
(A) O (A) 0
(B) 0 (B) 0
€ 1 (C) 1
(D) None of the above (D) Tz FE W
SPACE FOR ROUGH WORK / 9¥ F[(&q & &EM
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63. The LPP
Maximize Z =-x+2y
subject to
-x+y=<l
-x+2y<4
xyz20

has
(A) no solution
(B) a unique solution

(C) infinite number of solutions

(D) None of the above

€4. The extreme points of the set
S={x y e E?:|x|<1 |y|< ]

are
@A LY, LD, L -1, 0 -1
(B) {L 1, L -1}
€ {L-1, L1}

(D) None of the above

63. 2e (ARF PR FTPm

Maximize Z =-x+2y

subject to
-x+y<1
-x+2y<4
x,y=20
IGE:|

(A) I FNY= G2
(B) «3fBag FNym =R
(C) S AT YA T

(D) Toiaa (ML T

64. S={x, yecE?:|x|<l|yl<l} CTR

oife Rt =

&) (LD, (L, L -1, 0 -1)

(B) {L 1, -1 -1}
€ {& -1, 1, 1}

(D) Toea @FbE 7

SPACE FOR ROUGH WORK / ¥ J[& &= SR




65. The vertices of the feasible region of

the given LPP
Maximize Z = x;+5x,
subject to
3x1 it 4)C2 <6

65. 2we (AT R S
Maximize Z = x;+5x,
subject to
3x1 + 4XQ <6




67. If A, G and H be the arithmetic
mean, geometric mean  and
harmonic mean respectively of two
distinct observations, then

(&) G>+AH
(B) G2=A-H
(C) G2=A+H

(D) None of the above

68. The standard deviation of
5,.5:8, & T T

is

(& 1
(B) 0
€ 5

(D) None of the above

69. The coefficient of correlation lies in
the interval
(A) [0, 1]
B) L1
©) -1 1]

D) [-10]

67. I %o FoF oRIWR AR T,

68.

e e ¢ RIS-AAv v 3T
A, G HR, T3

(A) G>JAH

(B) G2=A-H

(C) G2 =A+H

(D) TR (I T

5, 5, 5,7, 7, 7-47 5% “I¥F =

A) 1

(B) 0
€ S

(D) ToEa @i T

69. R-TTEE (A WGA XS O 2

(A) [0,1]
B) L))
© L1

(D) [-1 0]
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70.

71.

72.

The arithmetic mean of first 100
natural numbers is

(A) 51

(B) 50

(C) 505

(D) None of the above

Which of the following is false?

(A) If the mean of 4, 6, x, 8, 10, 13
is 8, then x=7.

(B) If the median of the following
array (arranged in ascending
order) 59, 62, 65, x, x+2, 72,
85, 99 is 67, then x =66.

{C) If the modeof 1, 3,9, 7,5,2, 7,
5,9, 3, p, 11 is 5, then the value
of pis 7.

(D) If the mean of 10 observations is
15 and that of other 15
observations is 18, then the
mean of all the 25 observations
is 16'8.

The probabilities of solving a
problem by three students A, B and
C independently are 1, l, -1—

3 4 5
respectively. The probability that the

problem will be solved is

1 3
(A) 0 (B) 5
4 19
(&) = (D) 20

70. 299 100 FoRF R @S o =3

71,

(A) 51
(B) 50
(C) 50'5
(D) o7 IR

e str g @@ fam 2

(A) I 4, 6, x, 8, 10, 13 FAMERT
T 8 =W, O x ="T.

(B) 3 (@q‘mﬁm) 59, 62, 65
X, x+2, 72, 85, 99 Nl
TN 67 =W, BR x = 66.

©) 3®1,3,5 7,5 2, 7,5,9, 3
p, 11 SeafR RNsF I 5
SR p (IR T.

(D) 3 10f *RiCFHCR T I 15 <3
o 15 R 5% I 18 =W
TR A @ 2507 T TR
[ 16°8.

72. IR o w@ A, B, C WR

G35 TP ANY 2SR B[ JAFC

%, %, é.mﬁwmww&a
1 3

(A) 50 (B) 5
4 19

(C) 5 (D) 20

/20
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73. Six

74.

75.

fair dice are thrown
simultaneously. The probability that
all dice show different faces is

A —
B) —-

€ —=

(D) None of the above

Arithmetic mean and standard
deviation of a binomial distribution
B(n, p) are 4 and Jg respectively.

The value of n is
(A) 12

1
(B) 3

©) V12
(D) None of the above

In an experiment, the probability of
success is twice the probability of
failure. If the experiment is repeated
6 times, then the probability of
at least 4 times success is

54

779

192
779

496
729

(D) None of the above

(A)

(B)

©

74.

75.

120
(B) o2
20
(€) pry
(D) Toeaa (FFbE

¥ et 399 B(n, p)-aa CIFR 5
WWW4@E’{M, n-<3

T+ 23
A) 12

® 5

) V12
(D) TR @R W

@A IO TWIW PSR SR
TR R G 1 I et omer
6 R WO W, (A TFSTH 4 IF A
2SR IR 23 ;

64

779

192

779

496
729

(D) o @FivE W

(A)

(B)

€
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SEAL

1.

10.

11.

12,

13.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

e ot i 30 g :

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

At ovrm Yen B (@ e Rew (ew wmR @ (0T vEE % Yeaia e OMR Yerea crem 36t I

TS FAN AN ST P A B IR0 A | IRW Ve BiEFS T W (0 O W ARG T WA A

The candidates should ensure that the OMR Answer Sheet is not folded. Do not make any stray marks on the
OMR Answer Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer
Sheet. s

A (FFSSEE OMR Tzt $1% F903+ 1 | OMR ST (FHEATT W5 b1 1 TG (o741 LT 1 | @i
Tom @ 93 SeRena P 3 TR T S @S SR e =

Handle the Question Booklet and the OMR Answer Sheet with utmost care, as under no circumstances
(except technical defect), another set will be provided.

OMR T&3°[@ €3 2°aR ITTR S FoFe] W I LI | (FHe WELSR (YH9 FH ¢ w_iee T we)
OMR TZR°[@ S 2°[@ *T*5 (76T ARA 11 |

The candidates will write the correct Question Booklet Number and the OMR Answer Sheet Number in the
Attendance Sheet. ;
WHCE Hb-9 $W OMR TSR0 T90 R 2PIRT 797 g’ e =3 |

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

RAEFRICT SCHAD FTE Gar FO! WRTSADD P16 TE &) S WAL I 1 FI0E, 0 @ JETHS FA, (FoE, WA

CFR, S (FISTN G e ey A 2 /0 203 IACS (RS A

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials. .

Rl 27 TRRieng ¢ @ A @ e R aitefis a6 7R 391 7 oo AT S9 wrefi
I & WO HBLSABIL IS (TINS Y I |

No candidate, without special permission of the Centre Superintendent or Invigilator, should ieave his/her
seat.

CIBH JoNRCsces 1 Tfefnena-«3 Rom Sl vy «Rrefl e 251 $) 78 9 e 90 13 1 |

Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator. y
MEl e CPeY] TINBCEH Mo WA THA IS T3, AGER AW A SUR APH TRTW W GR

fa®ram Tfkfratem feb OMR T&arm w1 (ream ey |
The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and signed the Attendance Sheet twice. Cases where a candidate has not signed

the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and dealt with
as an unfair means case.

HHEH Ab-4 TR TN I R FEIES Tefecena-aa e Teera W crew IS e AR <Frw = e
FWE AR A | AR @RS AW WIS TAo-9 TIW TH A FE R [ S OMR Ve wW IR 1H 9
T3 9RO e I W @1 "I )

Use of any type of calculating device is prohibited.

@ @S FHCR PG I Ty [ |

The candidates are governed by all rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the

Board.

A T /I0RT WG AR WA Qe e RoPe wEil el 31 R @R wwe IR @edy e
P s e =3 1

No part of the Question Booklet and the OMR Answer Sheet shall be detached under any circumstances.
(IS SICIE 2M7@ 932 OMR TWINET (TS = (LH1 1 el PR AL 1

On completion of the test the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away this Question Booklet with them.

R O 2SR A RArFR WPIE TR OMR Yaaeg ¢ Wiefrenees s o o | i @ et Siom
R FTa TS ofE |
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